= o
A & 0l & AF 2 E A A
20198 & =0l& LB A ==X
2H: FoI=XD
M FOIXX JIgH 2st
ol ZOIME XA MHIA SO CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
==X 54,654,633 46,472,901 8,181,732
= 33,580,461
s 627,921
J| 18,552
< 3,948,808
s 16,478,891
QXX D8 25t 471,387 575,104 A103,717
= 117,447
< 29,095
s 324,845
FOMT AN A 2 471,387 575,104 A103,717
2 117,447
< 29,095
[ia 324,845
FUENHRFA 49,943 48,000 1,943
101 @124l 27,943 0 27,943
04 JI2ZtHZ22HEE = 27,943 0 27,943
OFgU=X I 224 2 27,943
- JlZs 66,8003 x 18 250 16,700
— &0z 16,700,000 « 1 x4/12 5,567
—SEF5E 66,800% 1 x52= 3,474
—Qx=g 66,8003 x1H » 15 1,002
— ZE S| 600,000 1 »23] 1,200
201 Let24E] 15,000 15,000 0
01 At 22l 15,000 15,000 0
OAEXZSR2 28 fI38 15,000
202 odl 4,000 4,000 0
01 S LHOIYI 4,000 4,000 0
OXE=X gR=2 4,000
203 YR =&l 3,000 4,000 A 1,000
03 AIHF=XH R =AH| 3,000 4,000 A1,000
OFo=x 2= 3,000
NASAHEEH 298 XI& 50,000 139,000 A 89,000
< 15,000
e 35,000
307 glz2+ol & 50,000 50,000 0
< 15,000
i 35,000
10 ALSISXAIEEE2GHEX 50,000 50,000 0
OXNESAME 2% XNIAMP(ZHEX) 50,000
< 15,000
s 35,000
A SAH 243 XA 9,050 9,500 A 450
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AN =S
M FOIXX JIgH 2st
ol FOIMES A A O (el @2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
== 2,715
s 6,335
307 glz2tol & 9,050 9,500 A 450
< 2,715
s 6,335
11T M SXASEEX 9,050 9,500 A 450
OslYUs HESAE 29 4,050
< 1,215
s 2,835
O=SA2E &0l &Mot=s 2SN 5,000
= 1,500
s 3,500
NESASELAH 24 XN& 124,900 117,000 7,900
307 gl2tol & 124,900 117,000 7,900
10 AL SXNAIEEE2EH EX 124,900 117,000 7,900
O SALEEH 298 XA 94,210,000 94,210
OXNSAE S A 30,690, 000 30,690
AMZISXAIE 2ARE =24 21,600 21,600 0
301 LA Z 21,600 21,600 0
0B A =EERAB NS 21,600 21,600 0
O ASIZXAIE AS=2R23 S4H X
6,0003 x15EH 20«12 21,600
MESHIIIE LZAENMEA ALY 30,000 30,000 0
307 21201 A 30,000 30,000 0
11T MISAASEX 30,000 30,000 0
OO0l 2gdl X& 30,000
HESAH 2COUOH XNE - 24 55,332 46,896 8,436
= 27,666
< 11,067
s 16,599
307 21201 A 55,332 46,896 8,436
= 27,666
< 11,067
[ia 16,599
10 AL SXNAIEEE2EHEX 55,332 46,896 8,436
OX&SALX 2CIUIOIH XI&
2% +2,305,500& x 121 & 55,332
= 27,666
< 11,067
[ia 16,599
d= S8 NSAMEE It Mula XI& 1,562 1,708 A 146
= 781
< 313
s 468
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2H: FoI=XD
Zo: FONK Olg 23
o FOMET A AMEA 2 CEERED)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
307 glz2tol & 1,562 1,708 A 146
= 781
< 313
s 468
10 M ZXNANEHI2IHE=S 1,562 1,708 A 146
OXNZSALAL Edz X 1,562
= 781
= 313
s 468
MIISXAIE SAX LA 40,000 21,400 18,600
307 glz2+ol & 40,000 0 40,000
11 AISI S XA E = 40,000 0 40,000
OMSBISXIAIE SAX(ASISXAIS)H MM
i 40,000
AMERHME XA 89,000 87,000 2,000
= 89,000
301 LEtE A= 89,000 87,000 2,000
= 89,000
0B A =RRAB LS 89,000 87,000 2,000
OMII=2R2H =3 75,000
= 75,000
OMII=2RI I=4| 3,000
= 3,000
OMI=ER22E WSH| 11,000
= 11,000
HASE oo & 84 €8 8,144,791 6,777,425 1,367,366
=2 5,743,698
2 124,470
< 723,459
[ia 1,553,164
THEMEIA KR 1,862,111 1,839,383 22,728
=2 1,275,564
s 124,470
< 139,122
[ia 322,955
JIZME2XIIZ SHEI2IY 22lRX 1,900 1,900 0
201 L2l 1,900 1,900 0
01 At 22l 1,900 1,900 0
OJlz=da2d)ls stz dd 2esX 1,900
&2z NSady & 2aNadH2d (a2 1,194,052 1,356,542 A 162,490
ZAY)
= 955,242
= 95,524
s 143,286
201 et | 20,000 25,000 A5,000
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AN =S
g MNASS &9 2 g8 &2
¢l MHEAMEA X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 16,000
< 1,600
= 2,400
01 At 22l 5,000 5,000 0
OX&gZ2Ae 5,000
= 4,000
< 400
[ia 600
02 =24l 15,000 20,000 A5,000
OX&ZZ2AY 15,000
= 12,000
< 1,200
i 1,800
301 et a = 190,000 230,000 A 40,000
= 152,000
< 15,200
i 22,800
01 MEIBEE 2053 190,000 230,000 A 40,000
OXgZ2Z2ArY 190,000
= 152,000
< 15,200
s 22,800
307 21201 A 984,052 1,101,542 A 117,490
= 787,242
< 78,724
s 118,086
10 AL SXAIEEE2EHEX 984,052 1,101,542 A 117,490
OCIZt2E THE#2Z2 At 984,052
= 787,242
< 78,724
[ 118,086
Nez2z NGNedH ¥ 2aN80H2G (XS 276,940 280,253 A 3,313
HUE 29)
= 193,858
s 83,082
307 21201 A 276,940 280,253 A3,313
= 193,858
[ia 83,082
10 M2 SXNANEEHE2IHEX 276,940 280,253 A3,313
OXS ey 228l 253,660
= 177,562
s 76,098
OX g Rade sZHLl 23,280
= 16,296
[ia 6,984
NAXSHEH SAA SE=E 9,720 9,720 0
< 2,916
[ia 6,804
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A FUEX L
HE: HASS 49 B B4 2
Rl X EMHA KR (e H)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
307 2Iz2to| & 9,720 9,720 0
== 2,916
= 6,804
10 MM SXAANEEHESIGHEX 9,720 9,720 0
OXNYG XN EEHBSAMAE S8 9,720
= 2,916
= 6,804
XNAXEE AMIIAHHA EXNASE(EX) 155,588 65,000 90,588
(DA H B2 XA )
= 124,470
== 15,559
= 15,559
307 2Iz2t0| & 155,588 65,000 90,588
g 124,470
= 15,559
= 15,559
05 QIZ2tRE 2 155,588 65,000 90,588
OJIAIZHE S 2 2| AFRI & ALY 155,588
s 124,470
= 15,559
= 15,559
I ZZEEYWIAY 28,000 28,000 0
& 7,000
= 21,000
307 giztol A 28,000 28,000 0
& 7,000
= 21,000
10 A SAANEEHESIHEX 28,000 28,000 0
OJ=ZZFEYWIAS 28,000
= 7,000
= 21,000
2258 Uses £3X9 €23 N (AYIISEHRAX 16,636 27,580 210,944
2)
= 13,309
= 3,327
307 gizto| A 16,636 27,580 A 10,944
= 13,309
= 3,327
11T AISIEXAIEEX 16,636 27,580 A 10,944
O3 YIS SEHXNIAAY 16,636
= 13,309
= 3,327
AEATCIAFE 2O X Al 22l 27,831 27,408 423
& 8,349
= 19,482
307 QI2t0| & 27,831 27,408 423
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o= X ot
HASS 4o & g4 =2
MY A X (cho &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
= 8,349
= 19,482
10 MM SAANEEHESIHEX 27,831 27,408 423
OXELXIALY 2O A At 2el
18 %2,319,250& *12 27,831
& 8,349
= 19,482
22sd U= 22319 €22 N (UHLIISEEAX 47,763 42,980 4,783
2AAH)
= 38,210
= 9,553
307 212t0| & 47,763 42,980 4,783
= 38,210
= 9,553
11 A EXAIEEX 47,763 42,980 4,783
OIS XNEAY 25,163
= 20,130
= 5,033
OFUHEZUISEE XNEFAY 22,600
= 18,080
= 4,520
NEF=CE HEL ALY 19,000 0 19,000
= 7,200
= 3,000
= 8,800
307 QI2t0| & 19,000 0 19,000
= 7,200
& 3,000
= 8,800
10 A SXNANEEHESIGH EX 19,000 0 19,000
OXEzx=cd ZEdXelAtd
2% %1,800,000& x5 & 18,000
= 7,200
o 2,700
= 8,100
OXEzx=cd HUdXelAY E8€& S 1,000
& 300
= 700
ANEAIYE Z22&H2 84,681 0 84,681
= 67,745
== 6,774
= 10,162
307 2Iz2to| A 84,681 0 84,681
= 67,745
& 6,774
= 10,162
10 MM SAANEEHESIGHEX 84,681 0 84,681
OXNEANY 22HHAS 84,681
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2N F
X ZH - .I
L= B

el

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

67,745
6,774
10,162

Mo

S
Ph
0z
o
H
021

5,312,079 4,395,112 916,967
4,168,705
565,247
578,127

HH A

HAH S 5,053,930 4,247,480 806,450
4,043,150
505,390
505,390

HH A

301 et d = 5,053,930 4,247,480 806,450
4,043,150
505,390
505,390

HH A

SESE S| 5,053,930 4,247,480 806,450
OdAd=N 5,053,930
4,043,150

505,390
505,390

U AT

nEg 12,273 10,781 1,492

308 AHXIEHMSO0IE 12,273 10,781 1,492

08 wFJl20et2=x 12,273 10,781 1,492
Oussno 12,273

IRNESPA

(il
=)

43,308 56,866 A 13,558
34,646
4,331
4,331

ol

U R I

301 LEE A 43,308 56,866 A 13,558
34,646
4,331
4,331

U RN

01 a2 &

1
i
=

43,308 56,866 A 13,558

43,308
34,646
4,331
4,331

0;

O
=]
x
03
=
il
2

MW

<) 15,175 15,175 0
12,140
1,214
1,821

02
M
!
e
5
o

HH W

301 €EtE A= 15,175 15,175 0
12,140
1,214
1,821

HH A

01 A28 H =62 15,175 15,175 0
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SN FUSKD
M HASES &2 2 &4 &2
el JEMERE (el @2)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OXMAUAL FR2F gl 15,175
= 12,140
< 1,214
s 1,821
Yo Eol(Jlx) 64,810 64,810 0
= 64,810
301 L2 A S 64,810 64,810 0
= 64,810
01 MEIBEE 253 64,810 64,810 0
OJIz=5i 3823 €oXd 64,810
= 64,810
HEE JZHEEFANY 108,624 0 108,624
< 54,312
s 54,312
301 PP A 108,624 0 108,624
< 54,312
s 54,312
01 Ml28E 6= 108,624 0 108,624
Od=Ed JzNez2d NI 108,624
< 54,312
e 54,312
dee| = SHuidl K& A 13,959 0 13,959
= 13,959
301 LtE L= 13,959 0 13,959
= 13,959
01 A3l EE & 56l 3 13,959 0 13,959
OZFF 2 L= Sl XA 13,959
= 13,959
S|U=XX& AA 956,601 528,930 427,671
= 299,429
< 19,090
[ia 638,082
S At 22l A R 2,000 7,500 25,500
301 L2 LS 2,000 2,000 0
09 HALAHIE& S 2,000 2,000 0
O SEAd2elAb us ¥ X0 2,000
22 =X K& 238,629 195,300 43,329
= 190,903
< 19,090
[ia 28,636
301 L2 A Z 238,629 195,300 43,329
= 190,903
= 19,090
s 28,636
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SA: =0

M HA
3| 0

Helr 3y XIXI%_O;U#I (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
01 MI2EZE+06l= 238,629 195,300 43,329
O2da =X ALY 238,629
= 190,903
< 19,090
[ia 28,636
AT S Atel el X2 12,600 12,600 0
= 6,300
a 6,300
201 Let2d] 3,780 3,780 0
= 1,890
i 1,890
01 AP 2teltl 3,780 3,780 0
OAtdll 2t el XI& 3,780
= 1,890
= 1,890
301 gEtE 4= 8,820 8,820 0
=2 4,410
= 4,410
01 MI2ZE+06l= 8,820 8,820 0
Ol 22l X 2 8,820
= 4,410
[ia 4,410
S A=RNIE 29 14,500 14,500 0
201 Let24E] 10,500 10,500 0
01 AFR2t2lHl 4,500 4,500 0
OsIY=RE J2FX S &I 2,000
O3Z=EXE R4 29| 2,500
02 =224l 6,000 6,000 0
OSIY=EXNRNEES IEXH 3,500
Oe-18 2EYS 2,500
202 Oddl 4,000 4,000 0
01 2ot 4,000 4,000 0
OsY=xNE P2EX 4,000
SEAI 22l A 2124 H] X (BX) 63,332 62,230 1,102
= 31,666
s 31,666
101 14l 63,332 62,230 1,102
= 31,666
A 31,666
03 RIAHAZ22RHE* 63,332 31,115 32,217
OSeAtail 2t el Ak el Al 63,332
= 31,666
= 31,666
O20ad0aes EEsSIAY 42,500 42,500 0
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A FUEX L
MM HAEES a9 & sa &2
R SIY=EXXNE AAH (2 &HH)
5 - 4
SA BB (SH) - NRAY - B Ol At o %E& HRE2
O|AE SE=XANHA 24 8,000
FAHE HERAZZ2 A 414,000 0 414,000
301 et A= 414,000 0 414,000
01 Al E& A 462 414,000 0 414,000
OFAHs Esz32 NS 414,000
SX A S8 2tel 14,000 14,000 0
S XANE 29 14,000 14,000 0
201 et 10,000 10,000 0
01 AP 2t 2] H| 6,000 6,000 0
OEe T AL2e 22X 3,000
OS&E T AI2e 28 3| 3,000
02 B32%H| 4,000 4,000 0
OE& T AL2e IR 4,000
202 o4 H| 4,000 4,000 0
01 2Ll 4,000 4,000 0
OSE T A2 g2 4,000
2HHE 2X0|8 =4 6,449,113 5,647,499 801,614
2 3,320,071
Fag 503,451
o=t 710,678
= 1,914,913
TN MEON THE X 5,633,087 4,844,510 788,577
= 3,320,071
& 611,581
= 1,701,435
ZOHC ALS & O D13 &0 109,900 110,900 A 1,000
201 Bt 4,000 4,000 0
01 AP 22| H| 2,000 2,000 0
O&FMIAER HAY AH| 2,000
02 232%H4| 2,000 2,000 0
O HeSES MEHIsS HE 2,000
307 212t0| & 105,900 106,900 A 1,000
11 A EXAIEEX 105,900 106,900 A 1,000
OZOel t2M4 B0 FD] 3,700
OZE AT A/SHE AL 33,000
OGtA 22183 8,000
O AEESNR 10,000
OOl Y AL 20,000
OSHEMR R8s 2EA 4,800
OAEOIA AlAA L JIEEOE 2,000
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AN FUASIIB
S

M O =X X4
Sl HOHQ MEtE IHE XH (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OAIZEE el StA =& S 3,000
OEXZE0L & A2EM =X 2,000
OAIZZ0HRl A2 E 1,500
O W= 1,500
Ol 4&Eal 1,500
OAMES =04 2,200
O=0&atH 2,000
OFAAMEMAO SF= na 4,000
Odct=k =0t M=Ual ot 3,000
OZOHQAEAAIL UAINH AL 1,500
OXOMLIHNOIEEUE &It 2,200
0 BEMNS 3,263 3,263 0
< 979
s 2,284
307 gl2tol & 3,263 3,263 0
< 979
i 2,284
11T M SRALSE EX 3,263 3,263 0
OAMZAZOHAE W = 3,263
< 979
[ia 2,284
Zoel Agsi2 29 XA 94,500 63,500 31,000
201 L4l 5,000 0 5,000
01 At 22l 5,000 0 5,000
OFHEs 2 I (AHE , AXE) 5,000
307 21201 A 79,500 63,500 16,000
05 RIZt2IEt = 79,500 63,500 16,000
OFoelHgs 2 24 79,500
401 A& HIZ 201 bI 10,000 0 10,000
01 Al Hl 10,000 0 10,000
OZOMAHAE S 2 ANIEE 10,000
Zopel ozHl XA 188,572 82,999 105,573
= 150,857
< 15,086
i 22,629
308 XXM SO A 188,572 82,999 105,573
= 150,857
< 15,086
e 22,629
10 B2 S 3AHAE A 188,572 82,999 105,573
O&Oel 2=Hl XA 188,572
= 150,857
< 15,086
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==Xt
FHE SXoIE =4
ZOHOl MEBOIN THE N (ol ml)
= _ — d =
SN FH-SA(EN) - MBAY - BES e HlnE2
| o 22,629
ZOilg el K& (SX LX) 46,817 36,960 9,857
= 23,409
< 9,363
s 14,045
101 @144 Hl 46,817 36,960 9,857
= 23,409
< 9,363
s 14,045
04 DI Z22XREE S 46,817 36,960 9,857
OFeI=RLRtel XA 46,817
= 23,409
< 9,363
s 14,045
EXI|F u= 2,791 2,256 535
= 2,233
< 223
e 335
301 et a = 2,791 2,256 535
= 2,233
< 223
e 335
01 MEIBEE 263 2,791 2,256 535
OHOMAEEININXE 2,791,000 2,791
= 2,233
< 223
s 335
ZONolYRel K& (Letgdxtel) 198,312 156,422 41,890
= 99,156
< 39,662
[ia 59,494
101 @124l 198,312 156,422 41,890
= 99,156
< 39,662
s 59,494
04 JIZHHZ2XNESE S+ 198,312 156,422 41,890
OFHrgerd L Rtiel 198,312,000 198,312
= 99,156
< 39,662
[ia 59,494
TNl Riel K& (Al 2EH L Krel) 24,803 22,358 2,445
= 12,401
< 4,960
e 7,442
101 1244 dl 24,803 22,358 2,445
= 12,401
= 4,960
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L= B

el
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2270
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e 0x

e
04 re

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

HJ

7,442

04 DIt 22 XS+
OZOHrAIZEAl & Rtel

M A

24,803
24,803

12,401
4,960
7,442

22,358

2,445

02
2
o
>
Mo
HT
]

EUNE

3,900

1,173
2,727

3,900

307 glztol &

Mo

3,900

1,173
2,727

3,900

2,500 *130F 121 =

M

3,900
3,900

1,173
2,727

3,900

=SS Es2x FIHAA

EUNL

27,693

8,308
19,385

20,940

6,753

307 21201 &

EUNL

27,693

8,308
19,385

20,940

6,753

o
o

05 gl

n

olEFD
T =)

HOH

[

O
oA

e
121

SE2X FIXI ALY

M

27,693

27,693

8,308
19,385

20,940

6,753

PSIEN

Jn

Zojel MEH ¥ A AH A&

Mo H

2,500
1,250
500
750

2,500

Mo H

2,500
1,250
500
750

2,500

dEtHl 2 FAH A&

Mo A

2,500
2,500

1,250
500
750

2,500

SLMEMHIA HSH X

Mo A

69,090
48,363

6,909
13,818

69,074

307 gl2tol ™

Mo

69,090
48,363

6,909
13,818

69,074
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SN Fo=NY
M Folg =XIIY FA
el ROl MEOIY WE X (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
05 RIZHRI & 3 69,090 69,074 16
OLEMeE Ml A BRH XA 69,090
= 48,363
< 6,909
[ia 13,818
ZOHUMEQISANALEH 29 143,247 126,485 16,762
< 27,849
[ia 115,398
307 21201 A 143,247 126,485 16,762
< 27,849
e 115,398
10 ALSISXAIEEE2EHEX 143,247 126,485 16,762
OXZOMQ MEOISKNAME 29 KA (KA) 4,000
OO M sSANBHEH 22 NI (EX)
139,247,000+ 14 £ 139,247
< 27,849
i 111,398
O =HESAMH 22d X3 102,029 109,525 AT,496
< 20,406
s 81,623
307 21201 A 102,029 109,525 AT,496
< 20,406
s 81,623
10 AL SXAIEEE2EHEX 102,029 109,525 AT,496
OFe =HSddH 228 XA
102,029,000+ 174 2~ 102,029
< 20,406
s 81,623
K HMEOC BHOAILXSNMH 2 56,482 53,402 3,080
< 15,250
[ia 41,232
307 21201 A 56,482 53,402 3,080
= 15,250
= 41,232
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